CITY OF NEW BEDFORD

APPLICATION FOR LAYING BUILDING SEWER AND/OR DRAIN SERVICE

Application No	19586	Date 20, 197
To the Mayor and Ci	ty Council:	
	t that a building s	sewer and/or drain be laid for the premises at
Bra	1	Return Street, 360'= C'
to connect with the		10: 6 411
		the surface repaired as directed by the Commissioner of
I hereby agree work in the manner completion of the wo	specified, in exces	ice of the City Treasurer all cost of performing the above s of the deposit made herewith, within 10 days after the
It is understood to the payment of th cost shall be returne	ne cost of perform	the deposit made with this application shall be applied ing the work done, and that any excess of deposit over the ty Treasurer.
Witness W. Kon	with Z	Leleng & arrudg
	0	Signature of Property Owner
	A	ddress Telephone No.
		Plumber's Name
Requires separate entrance		
for roof water		Address
	Pormits to Indust	rial and/or Commercial Applicants:
This information	n was submitted	bySignature of Applicant (owner)
and approved by th	e Commissioner o	of Public Works on
		Commissioner of Public Works
	Estimate	e and Deposit Requirement
		ce of Commissioner of Public Works, Qualita
My estimate of application is	the cost of laying	g the building sewer and/or drain described in the above
	,	
Entrance charges		Total deposit required 707.
		Total deposit required 259.00 Lessey H. Bughtras Commissioner of Public Works K
		Certificate of Issue
		Office of City Clerk, Qua 20, 1973
The above ap	plication, accomp	anied by City Treasurer's receipt presented this day
		was issued, and the Commissioner of Public Work
notified of the same		Cler M. Suglar Gity Clerk
Laid from main in stree	t to proporty !	Sity Clerk
Owner agrees to supply a		XC.

assessed

6		
6		

		6	1
and the state of t			

	SSIONER OF PUBLIC WORKS
Length of service	Siele 19/5/73
Sewer depth 10 1/2	a pipe system
Surf. drain	Contractor's Name
	(if working on City Property)
City o	f New Bedford,
Drain Permit Nº 19586	Office of D. P. W., August 20, 1973
To Commissioner of Public Works. Permission has this day been issued to	
John Arruda	25 Frederick St.
Signature of Property Owner	Address
By	
to love a building source (ducin source from	Address Probatives
Strutt 360 ± C	the premises at N. side Ricketton of Bruck Quenue
to connect with the sewer/drain in	Rickettson street.
Laid from main in street to property line. Owner agrees to supply all necessary materials and pipe.	By Hung Celen M Sanglan
Requires separate entrance for sewage and roof	water

RETURN OF FOREMAN

RETORIT OF FOREMAT	
Entered A49, 30	19 73
Time /2, Woon	
By Josel yn Joven	
COST	
Labor hours @ Jesse Torges 8" 3.90	31.20/
1 2 ATT	27.76
No Seph Al anso 8" 3.36	26.88
Joseph Felliers 8 " 3.47	27.76
Rod Rraga 8 " 3.76	30.08 /
TOM BURK 8 " 3.58	28.64
Oliver.D 2 " 3.90	7.80
StockFerreira,F1 3.24	183 36
12 bag Commit @ 2.05	1 03
100 / b 3 5 and	119
15x4B.T. SINetoyet	4175
> nowy 1-4 R. Frank Formana	1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
Trucking	
Trucking #65-3-488, @6.55-	19.65
116 - 2-HRS, @3.00-	6.00
52-1-HR, @3.35-	3.35
Total Cost	261.33
Estimate-cost of laying drain 259 -	
Entrance charges	
Total deposit	
Balance due Lit	233
Pieces pipe to curb ? / / / /	+ 1A-
" " curb to house 3) /-/off	3 7 14
Cut at sewer 9 ff	1-2 to.
Cut at ourh &	
Size of pipe 4" + 6" Trav	et a
	0110
Correct	
Jose VI Joven	Foromon
	POTEIHAH